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I nponvs. nomw
a If: nonw is done from the side, valid; np*Yn from the side — invalid
b If: nonw is done from the back of the neck - invalid; np*on done from the back of the neck — valid
i Note: 91y means the back of the neck, below (51n) the “real” 9y, per v. 1-3
¢ If: nonw is done from the front of the neck — valid; if np*Yn is done from the front of the neck - invalid
i Reason: the entire 9y is valid for np*9n and the entire IR¥ is valid for nv'nw
ii  Conclusion: that which is valid for nv'nw is invalid for np*>n and vice-versa
I Ruling of ®»n " 72 (nTnM pn): the mxn of Npyn involves pulling the 020 around to be behind the spinal cord — and cut
a  Clarification: this may mean that it is also valid np>>n, or the only valid np*Yn
i Argqument: should mean “also valid”, per mwn which invalidates no'nw done where np*>n is done
ii  Explanation: if np*9n involved necessarily pulling nnmo back, that would also be a valid no'nw
1  And: our mwn is referring to a case where he didn’t pull them back
b 82 ’7s response: end of mwn sets up NpP*on and NV'NY is symmetrically exclusive
i Butif: ;o Pnn is valid, there is a np*9n which overlaps with nonw
ii ~ Counter (17237): perhaps our mwn is excluding a fingernail or tooth (valid for np>5n only)
1 Block: those are explicitly invalidated ('a niwn)
iii ~ Rather (77072 77): our mwn is excluding ®am 79, necessary for nv’nY, but invalidate npon
1 Counter: that is only a valid response for those who hold that ®’am 7911 are invalid for np*on
2 Answer: RN 711 maintain that position (®7am 791 is invalid for np'on)
c N33 77's dictum: the mxn of npyn is to cut straight in (implying without Rvam P5n)
i paw ‘1 assumed that that negates X2am P9 n (supporting position of x»n " »1)
ii /P77 correction — R1n3 "1 meant that even without ®am P9 it is valid (17p with R2am PHin)
I 9xmw’s dictum (brought by n'n7 '7): anything that is valid for nvo'nw, the corresponding act is valid for np»on
a  Exclusion: o py (pulling out 1m0 before np*yn/nonw) — must be invalid for np*yn as well
i Challenge: Y9Rprm» 91 'n1 ruled that ono Mp>y is not a factor in re: birds
b Rather (9): must refer to the head
i Block: the head is explicitly ruled out — 7y 5nn
ii  Rather: the slope of the head — not to begin on the slope and cut in (nnn followed by nvmw)
1  Per:or "1 (above), if the first 1/3 is nn7an, all is Noa
¢ Revisiting 58pirm? 92 207's ruling: X277 112 RNR "7 (to YWR 27) — this is only true for the position that 9y nvnw is v*m
i oww 27 the opposite is true; if Y NYNWY is n”nn, that's the way it was given — without 1170 1y as a factor
1  But: if it is v"m, it would be inferred from nnna nvnw 2> TPy is invalid
ii ~ N227 reported that »"27’s ruling only applies to njp’n, not to NNV
1 Challenge: mn7y 1 quoted YR1nW (above) - NV NV~NPPoN
2 Answer: Ry17's report is at odds with YRnw’s equivalence dictum
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